
SPARE PART DRAWING
11003900 LNER BR TANGO

1  X 1 2  X 1     X 73     X 24     X 55     X 26

    X 17     X 18     X 19     X 110     X 111     X 112     X 813     X 114     X 115     X 116     X 117     X 218

    X 219     X 320     X 121     X 122     X 123     X 124     X 425     X 126     X 227     X 228     X 429     X 130     X 231     X 232

    X 133     X 134     X 235     X 236     X 237     X 138     X 239     X 140     X 141     X 142     X 144

    X 145

1 x Motor TCL816-12W-1.8
2 x O-ring
1 x Spurgear 19T x 12T M04
1 x Pinion Gear 18T M04
1 x Pinion Gear 14T M04
1 x Pinion Gear 20T M04
3 x Wheel set
1 x Driving Wheel set
1 x Pony Wheel set

    X 148     X 149     X 150     X 151

    X 152     X 153     X 154     X 155     X 156     X 165

    X 166     X 467     X 268     X 269     X 170     X 271     X 172     X 173     X 174     X 675     X 276     X 877

    X 278     X 179     X 280     X 281     X 482     X 283     X 184     X 185     X 186     X 187     X 188

    X 189     X 290     X 191     X 192     X 193     X 194     X 2
    Assembly

    Screw coupler

    X 195     X 299     X 1100     X 1101

    X 2102     X 2103     X 2104     X 2105     X 1106     X 1107     X 1108     X 1109     X 1110

    X 1111     X 11112     X 1113     X 2114     X 2115     X 2116     X 1117     X 1118     X 1119     X 1120

    X 1121     X 1123     X 1124

3 x Tender V1+2 Wheel set
3 x Tender V3 Wheel set
1 x Screw Ø 1.7 x 4.6mm
3 x Screw Ø 2.2 x 11mm
3 x Screw Ø 2.2 x 5.5mm
2 x Screw Ø 2.2 x 6.5mm
2 x Screw Ø 1.5 x x4mm

    X 1128     X 1129     X 1130

    X 1131     X 3132     X 1133     X 1134     X 1135     X 2136

    X 1137     X 1138     X 4139     X 1140     X 1141     X 1142     X 1143

    X 1144     X 1147     X 1148     X 1149

    X 1150     X 1151     X 1152

    X 1

    X 1154

    X 1155     X 1156     X 1157

    X 1160

    X 2158     X 2159

    X 1162     X 1163     X 2164     X 2165     X 1166

    X 1167     X 2168     X 1169     X 1170     X 1171     X 1172     X 2173     X 1174     X 1175     X 1176

    X 1177     X 4178

Connecting PCB

21 pin Main PCB Dummy Plug 21 pin Main PCB

1-2  X 1

    X 1148-2

    X 117--3

    X 451-2     X 451-3

Coal insert

    X 1183

    X 143

    X 1161

    X 1135-2

    X 1179

153

    X 1180     X 1181

    X 2182


	Page 1

